

(1) $y_0, 1$ oder

1

$$3x^2(1+\ln(y))dx - \left(2y - \frac{x^3}{y}\right)dy = 0$$

$$3x^2(1+\ln(y))dx + \left(-2y + \frac{x^3}{y}\right)dy = 0$$

$$M_y: 3x^2 \cdot \frac{1}{y} \quad | \quad N_x: 3x^2 \cdot \frac{1}{y} \quad \rightarrow \text{P.P.V.} \checkmark$$

$$F(x,y) = C$$

$$F = \int M dx = \int 3x^2 dx + \int 3x^2 \ln y dx = \frac{3x^3}{3} + \ln y \cdot \frac{3x^3}{3} + \frac{h(y)}{3} = x^3(1+\ln y) + h(y)$$

$$F_y = N: x^3 \left(\frac{1}{y} \right) + h'(y) = -2y + \frac{x^3}{y}$$

$$F_y = \frac{x^3}{y} + h'(y) = -2y + \frac{x^3}{y}$$

$$h'(y) = -2y \quad \rightarrow \quad h(y) = -\frac{2y^2}{2} = -y^2$$

$$\Rightarrow F = x^3(1+\ln|y|) - y^2 = C //$$

$\lambda = 0, 1, 2$

$$y'' - 3y' + 2y = \sin x + e^{2x}$$

$$y_h: k^2 - 3k + 2 = 0 \quad k_1 = 2, k_2 = 1$$

$$y_h = c_1 \cdot e^{2x} + c_2 e^x$$

$$y_p = \sin x, \cos x, e^{2x}$$

$$y_p = A \sin x + B \cos x + x e^{2x} \cdot C$$

$$y' = A \cos x - B \sin x + e^{2x} \cdot C + 2x e^{2x} \cdot C$$

$$y'' = -A \sin x - B \cos x + \underbrace{e^{2x} \cdot 2C + 2e^{2x} \cdot C}_{4e^{2x} \cdot C} + \underbrace{2x e^{2x} \cdot 2C}_{4x e^{2x} \cdot C}$$

$$-A \sin x - B \cos x + 4e^{2x} \cdot C + 4x e^{2x} \cdot C - 3(A \cos x - B \sin x + e^{2x} \cdot C + 2x e^{2x} \cdot C) + 2(A \sin x + B \cos x + x e^{2x} \cdot C) = \sin x + e^{2x}$$

$$\sin x: 1 = -A + 3B + 2A \Rightarrow 1 = A + 3B$$

$$e^{2x}: 1 = 4C - 3C \Rightarrow \boxed{C=1}$$

$$\cos x: 0 = -B - 3A + 2B \Rightarrow 0 = 3A = B$$

$$\Rightarrow 1 = A + 3(3A)$$

$$1 = A + 9A = 10A$$

$$10A = 1 \Rightarrow \boxed{A = \frac{1}{10}}$$

$$\boxed{B = \frac{3}{10}}$$

$$y_p = \frac{1}{10} \cdot \sin x + \frac{3}{10} \cos x + x e^{2x}$$

$$y(x,y) = c_1 \cdot e^{2x} + c_2 e^x + \frac{1}{10} \sin x + \frac{3}{10} \cos x + x e^{2x} //$$

1. 40 2. 12

②
④

$$\frac{\partial u}{\partial t} = 6 \frac{\partial^2 u}{\partial x^2}$$

$$u(x, t) = X(x) \cdot T(t)$$

$$\left. \begin{aligned} \frac{\partial^2 y}{\partial x^2} &= X''(x) \cdot T(x) \\ \frac{\partial y}{\partial t} &= X_i(x) \cdot T'(t) \end{aligned} \right\} \begin{aligned} X \cdot T' &= 6 \cdot X'' \cdot T \\ \frac{X''}{X} &= \frac{1}{6} \frac{T'}{T} = -\lambda^2 \end{aligned}$$

$$\frac{\frac{dT}{dt}}{T} = -G\gamma^2 \rightarrow \frac{dT}{dt} = -G\gamma^2 T \Rightarrow \int \frac{dT}{T} = \int -G\gamma^2 dt$$

$$\rightarrow \ln(T) = -6\lambda^2 t + \ln(C_1)$$

$$\ln\left(\frac{T}{T_0}\right) = -6\lambda^2 t \rightarrow \frac{T}{T_0} = e^{-6\lambda^2 t} \rightarrow T = c_1 \cdot e^{-6\lambda^2 t}$$

$$x'' + \lambda^2 x = 0$$

$$k^2 + \lambda^2 = 0 \Rightarrow k^2 = -\lambda^2 \rightarrow k^2 = \lambda^2 \cdot i^2 \rightarrow k = 0 \pm \lambda i$$

$$\hookrightarrow X_n = C_2 \cos(\lambda x) + C_3 \cdot \sin(\lambda x)$$

$$\Rightarrow U(x,t) = x \cdot T = e^{-6x^2 t} (A \cos(\pi x) + B \sin(\pi x))$$

$$\{ A = C_1 \cdot C_2 ; B = C_1 \cdot C_3 \}$$

2802 nke

②

$$\int_{-\pi}^{\pi} u(x,0) = -4\sin(\pi x) + 2\sin(6\pi x) - \sin(4\pi x)$$

oder $u(0,t) = u(1,t) = 0$

$$u(0,t) = e^{-6.72t} \cdot A \cos(0) \stackrel{=1}{=} 0$$

$\downarrow$
 $A=0$

$$u(r, t) = e^{-6\lambda^2 t} \cdot B \sin(\lambda r) \neq 0$$

$\downarrow$
 $\sin(\lambda) = 0$
 $\boxed{\lambda = n\pi}$

$$u(x,t) = e^{-6\pi^2 t} \cdot B \sin(n\pi x) \quad // \quad (n\pi)^2 \quad \text{2te 4go 2sin nke 7en}$$

$$u(x,0) = B \sin(n\pi x) = -4 \sin(\pi x) + 2 \sin(6\pi x) - \sin(4\pi x)$$

$$B_1 = -4, n=1$$

$$B_2 = 2, n=6$$

$$B_3 = -1, n=4$$

$$u(x,t) = \underbrace{e^{-6\pi^2 t} \cdot (-4) \sin(\pi x)}_{n=1} + \underbrace{e^{-216\pi^2 t} \cdot 2 \sin(6\pi x)}_{n=6} - \underbrace{e^{-96\pi^2 t} \cdot \sin(4\pi x)}_{n=4} //$$

$$f(x) = -x \quad 0 < x < 1$$

$$\textcircled{b} \int_0^1 3x^2 dx$$

$$b_n = \frac{2}{1} \int_0^1 -x \cdot \sin(n\pi x) dx$$

$$u = -x \quad u' = -1$$

$$u' = \sin(n\pi x) \quad u'' = -\frac{\cos(n\pi x)}{n\pi}$$

$$b_n = 2 \left[\frac{x \cos(n\pi x)}{n\pi} - \int_0^1 \frac{\cos(n\pi x)}{n\pi} dx \right]$$

$$b_n = 2 \left[\frac{x \cos(n\pi x)}{n\pi} - \frac{\sin(n\pi x)}{(n\pi)^2} \right] \Big|_0^1$$

$$b_n = 2 \left[\left(\frac{\cos(n\pi)}{n\pi} - \frac{\sin(n\pi)}{(n\pi)^2} \right) - (0 - 0) \right]$$

$\cos(n\pi)$

$$\Rightarrow b_n = \frac{2}{n\pi} \cdot \cos(n\pi) = \frac{2}{n\pi} \cdot (-1)^n \quad \begin{matrix} n = 2k \\ n = 2k+1 \end{matrix}$$

$$b_n = \begin{cases} \frac{2}{(2k)\pi} = \frac{1}{\pi \cdot k} & \text{213} \\ \frac{-2}{(2k+1) \cdot \pi} & \text{215-k} \end{cases}$$

$$f(x) = \sum_{n=1}^{\infty} \underbrace{\frac{2}{n\pi} (-1)^n}_{b_n} \cdot \sin(n\pi x) //$$

3

②

$$u(x,t) = e^{-6\lambda^2 t} \cdot B \sin(n\pi x)$$

(2) 403 nke

1/2 nke 671

$$u(x,0) = -x$$

$$u(x,t) = \sum_{n=1}^{\infty} e^{-6\lambda^2 t} \cdot \underbrace{\frac{2(-1)^n}{n\pi}}_{\text{1/2 nke 671}} \cdot \sin(n\pi x)$$

$$u(x,t) = \sum_{n=1}^{\infty} e^{-6(n\pi)^2 t} \cdot \frac{2(-1)^n}{n\pi} \cdot \sin(n\pi x) //$$

$$u(x,t) = \underbrace{e^{-6\pi^2 t} \cdot \frac{-2}{\pi} \cdot \sin(\pi x)}_{n=1} + \underbrace{e^{-24\pi^2 t} \cdot \frac{1}{\pi} \cdot \sin(2\pi x)}_{n=2} - \underbrace{e^{-54\pi^2 t} \cdot \frac{2}{3\pi} \cdot \sin(3\pi x)}_{n=3} + \dots$$

⑤

⑥

$$① J_{n+1}(x) = \frac{2n}{x} \cdot J_n(x) - J_{n-1}(x)$$

n=2

$$J_{2+1}(x) = \frac{2 \cdot 2}{x} \cdot J_2(x) - J_{2-1}(x) = \frac{4}{x} \cdot J_2 - J_1(x) = J_3(x)$$

n=1

$$J_2 = \frac{2}{x} \cdot J_1(x) - J_0(x)$$

$$J_3 = \frac{4}{x} \left(\frac{2}{x} \cdot J_1(x) - J_0(x) \right) - J_1(x)$$

$$J_3 = \frac{8}{x^2} \cdot J_1(x) - \frac{4}{x} \cdot J_0 - J_1(x)$$

$$\Rightarrow J_3(x) = J_1(x) \cdot \left[\frac{8}{x^2} - 1 \right] - \frac{4}{x} J_0(x) //$$

② k

① k J_0 S n k

② k J_0 S n k

②

$$\int x^3 \cdot J_2 dx = \int x \cdot x^2 \cdot J_2 dx$$

$$v = x \quad v' = 1$$

$$u' = x^2 \cdot J_2 \quad u'' = x^2 \cdot J_3$$

$$= x^3 \cdot J_3 - \int x^2 \cdot J_3 dx \Rightarrow x^3 \cdot J_3 - x^2 \cdot J_4(x) //$$

② $\frac{d^3}{dx^3} (x^2-1)^3$ P_3 $\sim$ $\mathbb{C}$ $\mathbb{R}$

① $\frac{d}{dx} \frac{1}{x} \sim \frac{1}{x^2}$

$n=3$ $P_3(x) = \frac{1}{2^3 \cdot 3!} \frac{d^3}{dx^3} (x^2-1)^3$

① $3(x^2-1)^2 \cdot 2x = 6x(x^2-1)^2$

② $6(x^2-1)^2 + 6x \cdot 2(x^2-1) \cdot 2x$

$\frac{6(x^2-1)^2 + 24x^2(x^2-1)}{24x^2 - 24x^2}$

③ $12(x^2-1) \cdot 2x + 48x(x^2-1) + 24x^2$

$24x(x^2-1) + 76x^3 - 48x$

$24x^3 - 24x + 76x^3 - 48x \rightarrow 100x^3 - 72x$

$P_3(x) = \frac{1}{48} (100x^3 - 72x) = \frac{5}{2}x^3 - \frac{3}{2}x //$

② $\frac{d}{dx} \frac{1}{x} \sim \frac{1}{x^2}$

$\sum_{k=0}^{\infty} A_k P_k(x)$ $\sim \frac{1}{x^2}$ $\mathbb{C}$ $\mathbb{R}$

②

$A_k = \frac{2}{J_4^2(\pi p)} \int_0^1 x \cdot J_3(\pi p x) \cdot (x^5 - 3x^3 + x) dx = \int_0^1 J_3(\pi p x) (x^5 - 3x^3 + x) dx$

$\pi p \cdot x = v \rightarrow x = \frac{v}{\pi p} \rightarrow dx = \frac{1}{\pi p} dv$

$0 < v < \pi p$ $\because v$ $\sim$ $\mathbb{C}$ $\mathbb{R}$

$A_k = \frac{2}{J_4^2(\pi p)} \int_0^{\pi p} J_3(v) \cdot \frac{1}{\pi p} (v^5 - 3v^3 + v^2) dv$

$A_k = \frac{2}{J_4^2(\pi p) \cdot \pi p^2} \int_0^{\pi p} J_3(v) \cdot (v^5 - 3v^3 + v^2) dv = \frac{2}{J_4^2(\pi p) \cdot \pi p^2} (v^5 - 3v^3 + v^2) \cdot J_4(v) \Big|_0^{\pi p}$

